'Pﬁf\ A '-S‘ -Hig, rﬁtl’hfﬁl d-‘“’qﬁngﬂr : rh f

? aABCisa r-lght triangle. One of the acute angles has a cosinc of 1/2 f
that same angle? What is the sine of its complement? .y (9) z_
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Solve for the missing side or angle using Trig Ratios (sin, cos, tan).

3, ;' 5,
;
oy
/ ..,x\4 / v
: @
7 A = B :
o 1anf=4 cos {072 X
s ‘l""" : ‘)Lth 3)2.
) X = E X< S, S
= 7 ,____:_:-__— 8 TN
: B
Ty X it
7, g &
A B 10.8 C
eI
tn O 1 ol
9:28.8 X 71085, (57)

Solve for all of the missing parts of the triangle"using Trig Ratios (sin, cos, tan).
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Application Problems:

11. An 8 foot ladder is leaning against a wall so that the base is 6 feet from the base of the
wall. What angle does the ladder make with the ground? Round to the nearest tenth. =3
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12. A surveyor is standing 25 feet from a building and is looking at the top with an angle of
elevation of 65°. How tall is the building? Round to the nearest tenth.
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13. Bob is looking at a helicopter that is flying 1,000 feet above the ground. Bob is 1,500
feet from the helicopter. At what angle of elevation is Bob looking at the helicopter?
Round to the nearest tenth. ;-
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14, A kite is being flown using 150 yards of string. The kite has an
\

ground of 65 degrees. How high above the ground is the kife?
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15. A 5.5 foot person standing 20 feet from a street light casts a 12 foot shadow. What is
the height of the streetlight? b
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16. Find the area. % %= 4, 67“{'1“"
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